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SA SHANLD
HE: sAD AL R
Sl XSfY AIEX

A - FE - SRS - MRAY - BaS 0] a0t ol H o CImE=E
=0t 2 EH| 30,000 0 30,000
-II=0ts sti=2 &4 25,000 0 25,000
-G=0t= erZEH| 15,000 0 15,000
-2A220t2 ti+2 &Yl 15,000 0 15,000
-AH=0E 0ISAZ ZESA 20,000 0 20,000
-2s0ts OS2 ZESA 15,000 0 15,000
-H=10t2 0ot ZESAH 20,000 0 20,000
—HiLthel & o1& ZEHIAIY 15,000 0 15,000

A& 84,174 439,174 455,000
g T2HME 894,174 439,174 455,000
S =M dIZ= Al =4 655,000 200,000 455,000
401 AIEHIZ 2018 655,000 200,000 455,000
01 Al&Hl 651,724 200,000 451,724
O 2tZ2 =3 dE=AIE ZEAE 651,724 200,000 451,724
03 Al S CHHI 3,276 0 3,276
O otH2 sHE=Ad =4 3,276 0 3,276
SAI|BAIEXIZ 12,733,411 11,786,278 947,133
= 2,012,137 2,012,137 0
L= 2,525,107 2,507,107 18,000
i 8,196, 167 7,267,034 929,133
SHI|BAIE XA 12,733,411 11,786,278 947,133
= 2,012,137 2,012,137 0
= 2,525,107 2,507,107 18,000
= 8,196, 167 7,267,034 929,133
SHIIEHAIE A ALY 4,508,666 3,759,533 749,133
L= 312,000 312,000 0
i 4,196,666 3,447,533 749,133
305 Hia=S 37,103 0 37,103
01 tia=S 37,103 0 37,103
O &==TloH Z=ohtHat (20242t2555) 18,000 0 18,000
O EXQE & AEEEHT (20230+H2505) 15,000 0 15,000
O 2Y0IS2 HPAIH BIAS (2023014-34728) 4,103 0 4,103
401 AlEHIZ 20| 4,448,469 3,736,439 712,030
L= 312,000 312,000 0
= 4,136,469 3,424,439 712,030
01 AIZHI 4,441,530 3,729,500 712,030
O &dl g430E sil+=2 XA
(SEx=3U23) 25,000 0 25,000
O OIM 20XI0tS =2 ZUISA
(SEx=FURI) 20,000 0 20,000
O OIM =0t =2 JHISA
(SEXxENR3) 15,000 0 15,000
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SA: SHAD et

HE: sHI|BAIEXE

chelr SSIBAIEXIR (St &)
SA - A - S9I(E) - HIRAY - BES o &t 0l F o HIRS2
O 472 BSAE =AY (7.867.10 &

SUNSTAI) 232,030 0 232,030
-85 E%cl 2 MallS7AE 37,738 0 37,738
-4 2522 52 Mol S AR 36,228 0 36,228
- ASEl 52 Mol S AK 30,190 0 30,190
-2F M52 52 Molls7HAY 45,285 0 45,285
-Z2& Jidel =2 o= Ar 32,589 0 32,589
-SHok 2tEe] =2 THol= A 50,000 0 50,000
O XIS HAHHI 420,000 0 420,000
-Exc S+2 XA 10,000 0 10,000
—HA0EE =2 ZXIA 10,000 0 10,000
-7=0t= Sti+=2 &4l 3A 10,000 0 10,000
RIS S2 EE SA 15,000 0 15,000
-SHOIS sti+=2 3A 5,000 0 5,000
-2S0t2 s2 FHISA 5,000 0 5,000
-=280t2 g EX3A 20,000 0 20,000
—&70I0tS =2 EXISAH 20,000 0 20,000
-E3t0t= P2 JUISA 15,000 0 15,000
-U40= B2 EX SA 20,000 0 20,000
—HUE0E A= ZX SA 15,000 0 15,000
-2AHOIE sHia2 SXI3A 15,000 0 15,000
-S20E 2SS EXISA 3,500 0 3,500
-SENE H2S WHSA 2,500 0 2,500
-HIHIRE D28 EXISA 6,000 0 6,000
-EH0IE 2SS EXSA 7,000 0 7,000
—SENE S2EESA 20,000 0 20,000
-Us0e H2s X SA 3,000 0 3,000
-Fy0i= =2 AL 30,000 0 30,000
-8 A==y S2s &1 10,000 0 10,000
-FHOE S8 28 10,000 0 10,000
-E20r2 =2 &X 10,000 0 10,000
20l A5 21 20,000 0 20,000
22012 =2 (A) £X 20,000 0 20,000
-Us0t= =2 JUISA 15,000 0 15,000
-HEHOES Jt2S EXISA 5,000 0 5,000
“2EAN0IE =2 EXISA 20,000 0 20,000
-adlls s AL 20,000 0 20,000
-E50i= =2 JHIAE 15,000 0 15,000
-ct=0IS =2 EXIA 10,000 0 10,000
-SHAH U2 EXISAH 33,000 0 33,000
s+ UMY (HEAY) 2,099,470 1,961,470 138,000
< 480,000 480,000 0
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SA SHADZ
M =HIIBAIEXIA
Chel: SI|BHAIE XIS (SH9 H2)
SN - BE - SRA(SIH) - NIRAY - B2 0] a0t ol & o HimEE]
= 1,619,470 1,481,470 138,000
401 AlEHIYL S THYI 650,000 512,000 138,000
01 Al&HI 647,743 509,743 138,000
O s+2 sXzel 598,278 460,278 138,000
JrSUEl S=IHEA 180,000 120,000 60,000
= 96,000 96,000 0
< 18,000 0 18,000
= 66,000 24,000 42,000
401 Al HIYL S CHYI 180,000 120,000 60,000
= 96,000 96,000 0
< 18,000 0 18,000
= 66,000 24,000 42,000
01 Al&HI 180,000 120,000 60,000
O ISl ExIHE A
30,000,000& 62 180,000 120,000 60,000
= 96,000 9,000 0
< 18,000 0 18,000
z 66,000 24,000 42,000
OtM IHoH Oil'Zf AL 40,479,864 35,625,944 4,853,920
= 16,878,271 16,878,271 0
z 210,000 210,000 0
< 10,367,067 9,323,147 1,043,920
= 13,024,526 9,214,526 3,810,000
StE X2l 5,608,002 5,471,002 137,000
= 793,000 793,000 0
= 210,000 210,000 0
< 583,000 583,000 0
= 4,022,002 3,885,002 137,000
St = Rl2e 1,220,083 1,083,083 137,000
401 AlEHIYL S THYI 1,056,645 919,645 137,000
01 Al&HI 1,051,000 914,000 137,000
O Ed 70l srdd ME=2 EH|
(SEXFURZ, FZESQ) 25,000 0 25,000
O A2 HEiltE SZ2EE SA
(SExFuRs, FIEs) 25,000 0 25,000
O E SY0tS A HMEE2 ZHAY 20,000 0 20,000
O tHlE #2028 o2 M2 =2 20,000 0 20,000
O XIS erA I 47,000 0 47,000
Bt Aot A& SA 16,000 0 16,000
-olH0S MYEZ SEEIA 8,000 0 8,000
-SY0ES MYEZ ZE3AM 13,000 0 13,000
Kot Z=8 EL43A 10,000 0 10,000
Xgotd ZHIAY 11,008,820 9,054,900 1,953,920
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SA SHADZ
M GHETHOH Gl AL
el XIotE EHIA (SH9 H2)
A -3 - SRA(3H) - ARA - Ofl &F2H I8N Hws2
[ 7,705,820 6,661,900 1,043,920
= 3,303,000 2,393,000 910,000
X6t HU(H=E)(HEAIY) 5,700,000 3,746,080 1,953,920
< 3,990,000 2,946,080 1,043,920
= 1,710,000 800,000 910,000
401 AlEBIYL LY 5,700,000 3,746,080 1,953,920
< 3,990,000 2,946,080 1,043,920
= 1,710,000 800,000 910,000
01 Al&HI 5,546,700 3,592,780 1,953,920
O d=d Lot EHIAY = && 5,546,700 3,592,780 1,953,920
< 3,836,700 2,792,780 1,043,920
= 1,710,000 800,000 910,000
ol Mol =T ALY 21,688,290 18,925,290 2,763,000
= 16,085,271 16,085,271 0
< 2,078,247 2,078,247 0
= 3,524,772 761,772 2,763,000
6.27~7.27 SLUGH MHHS A (X 8,525,001 8,525,001 0
= 7,415,121 7,415,121 0
< 449,108 449,108 0
= 660,772 660,772 0
401 AlEHIYL S THYI 8,525,001 8,525,001 0
= 7,415,121 7,415,121 0
< 449,108 449,108 0
= 660,772 660,772 0
01 AlZHI 8,515,001 8,525,001 210,000
O =31 MHol=7 A 2,704,340 2,709,340 25,000
= 2,476,778 2,476,778 0
= 227,562 232,562 5,000
O DAL THOH SR AY 2,129,693 2,134,693 25,000
= 1,533,743 1,633,743 0
< 300,475 300,475 0
= 295,475 300,475 5,000
03 A& S CHYI 10,000 0 10,000
O =&, D4E Hl=S72AIS 10,000 0 10,000
A0t FHIAM('24.7.8.~'24.7.10. & 2,763,000 0 2,763,000
J=EEALS (D EALY)
401 AlEBIL LY 2,763,000 0 2,763,000
01 AlZHI 2,763,000 0 2,763,000
O RHZ=20td MHol=-AE 83,888 0 83,888
O S=2A0& o= ALY 70,586 0 70,586
O et=46H TSR AY 56,649 0 56,649
O EEAGE Mal=7AY 50,720 0 50,720
O SYA5E M= AY 50,403 0 50,403




SA: SHAD et
S ot ol OlEAr
el ol o= AMY CERE)D)
A -3 - SRA(3H) - HRAE - BES Ofl &4 I3 A Husz
O EH240tE Mol =S+ A 47,393 0 47,393
O DIEgAsctd W=7 A 47,137 0 47,137
O NZ=Aotd MaH=s7AI 46,580 0 46,580
O iAot o= A 45,289 0 45,289
O dUHAGHE ol =AY 39,818 0 39,818
O SHO0I20tA Mol =+ At 35,111 0 35,111
O SIRUSASHE HolSFAIY 42,59% 0 42,595
O "Ot=20otd Moll=S+ A 55,827 0 55,827
O =461 THoHS A 1,545 0 1,545
O BHAGHA THH =S AY 59,662 0 59,662
O S4tAGH THoH =S AHY 11,268 0 11,268
O =240t THol =S AHY 13,522 0 13,522
O SrEAGH W=7 AY 58,5% 0 58,596
O ANSAGH THH SR AY 25,662 0 25,662
O RA5H THoH =AY 76,723 0 76,723
O ER2, 540 HoHl=7AY 47,468 0 47,468
O &= 1a0td o= AR 19,720 0 19,720
O etil=Aotd o= A 6,944 0 6,944
O BHEAGHE THH =S AY 79,953 0 79,953
O ZgZ20t Mol =+ At 37,487 0 37,487
O HAHAGHE THoH =AM 31,910 0 31,910
O ESA0H W=7 AY 51,987 0 51,987
O AEAGHAE THHS A 49,723 0 49,723
O =lcl=40td Ml sA 7,364 0 7,364
O BHURSAGHE MHolSFAIY 8,049 0 8,049
O N==240td MollS+AE 8,285 0 8,285
2ESAGHE HHEFASE 76,564 0 76,564
O =440t Mol=s2A 34,054 0 34,04
O s=&20td Mol =+ A 186,778 0 186,778
O HEAGH THol =AM 24,638 0 24,633
O U=s40otd Mall=S+AE 118,346 0 118,346
O dS=20td Mol=2A 53,816 0 53,816
O BSA0H =R AY 125,014 0 125,014
O MEAGH THol =AY 2,666 0 2,666
O NAEASHE MHol=s AN 84,284 0 84,284
O F==A0H W= AY 3,440 0 3,440
O JUXM0I20tE Hol=sA 26,697 0 26,697
O R£=405td oS A 118,019 0 118,019
O 2E45H THol =AM 18,114 0 18,114
O S2E1AGHE Wl =7A 76,907 0 76,907
O =846t THHS A 87,443 0 87,443
O H=40H THol =AY 60,032 0 60,032
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SA SHADZ
M GHETHOH Gl AL
Chel: ot MoiE-AMY (SH9 H2)
SA - FE - SRA(3H) - MRAE - BES Ofl &F2H I8N Hws2
O HEA5HE M= PAY 43,857 0 43,857
O FZ2HtE oS A 18,114 0 18,114
O 2Ed MHH=SFA 18,114 0 18,114
O HEX MHH=S7AIY 27,529 0 27,529
O & Mail=72AL 2,208 0 2,208
O & Tol=7A 25,662 0 25,662
O EXI& TSP A 21,133 0 21,133
O ota® TSR AY 39,213 0 39,213
O Aotd Mol =SAE (K== 182,494 0 182,494
O 22 MHol=7AY 20,000 0 20,000
WREs (S 200,825 197,471 3,34
SrSONE 200,825 197,471 3,354
=Ll gtas 200,825 197,471 3,354
2 BHEt=DIE 200,825 197,471 3,354
1 2NEXIEES 21,819 18,894 2,925
O JistitlEsHe 2,925 0 2,925
02 Al - SHIEXZEHEZ 179,006 178,577 429
O F2UFHAH At 36,981 36,552 429
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